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JOODO r(AnglePolar) O € = cos9+isng0 000 Oplot 0000 -00000
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a, > clean L:® ((cos +
_3.14159 _1.0472
_1 0.5j_0.866025

_1 0.5j_0.866025
_1 0.5j_0.866025

require ’plot numeric

NB. OO40Oono0O

plot r. steps _lpl 1pl

plot "@j. steps _1pl 1p

plot(cos + j.@sin)steps

j.@sin); ("@j.);r.) (L:0) a=.steps _1pl 1pl 3
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aqua4 steps _1 15

1 1|1 0.6 1.0.2 | 16.2 | 10.6 | 11
0.6 _1| 0.6 _0.6| 0.6 0.2 | 0.6 0.2 | 0.6 0.6 | 0.6 1

0.2 _1| 0.2 _0.6| 0.2 6.2 | 0.2 0.2 | 0.2 0.6 | 6.21
0.2 _1| _0.2 _0.6| _0.2 0.2| 0.2 0.2| _0.20.6| _0.21
0.6 _1| _0.6 _0.6| _0.6 _0.2| 0.6 0.2| _0.6 0.6| _0.6 1
1 _1|_.1.6.6 |_1_0.2 |_106.2 |_10.6 |_11
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implicit_circ® implicit_calc steps _1 1 5
1 0.36 0.04 0.04 0.36 1

0.36 _0.28 _0.6 _0.6 _0.28 0.36

0.04 _0.6 _0.92 _0.92 _0.6 0.04

0.04 _0.6 _0.92 _0.92 _0.6 0.04

0.36 _0.28 _0.6 _0.6 _0.28 0.36
1 0.36 0.04 0.04 0.36 1

e Viewmat OO OO
viewmat implicit_circ® implicit_calc steps _1pl 1pl 1000
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NB. very small mesh

aquad=: 3 : ’|. {y ; vy’ NB. steps _lpl 1pl 100

implicit_calc=: 1 : 0
mesh=: aqua4 y
clean > u L:0 mesh
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implicit_circ® =: 3 : '<: (& {. y) + "& {: y’
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3. |. rotated 00000
4. clean: numericijsd0 000000000
5. stepsabn: numericijsO0 00000000
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X = acosy
(0<6<2n)
y= bsnd

plot 3 1 ellipse steps _1pl 1pl 100
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ellipse=: 4 : 0

NB. Usage:(plot) 3 1 ellipse steps _1pl 1pl 100
’a b’=: x

(a * cos y)+(b * j.@sin y)

)
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X3 +y3 = a3
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X= acosH
@a=0
y= asind

plot OO0O0O0OO0OODOOOOODOODOOOOODOODOOD

plot ("&3@cos; &3@sin) steps _1pl 1pl 100

pd ’eps c:/asteroid.eps’
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X= sind
(0<06<2n)
y= sn20

plot
plot (sin;sin@*&2)steps _1pl 1pl 100
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0Dood f(r,6) =0
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plot t * r. t=. steps 0 20 100
plot t r. t=. steps O 20 100 NB. same
plot r.~ t=.steps 0 20 100 NB. same

Oddr.0O Polar x r. vy --—> X *r. y ooagad
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plot (70.1* t) r. t=.steps O 60 1000
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plot cos 1pl r. t=.steps _1pl 1pl 100
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plot r. steps _1pl 1pl 1000
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2.3 Etc

plot sin 1pl r. t=.steps _1pl 1pl 1000 NB.sinlpl*r.t
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plot t r.sin 1pl * t=.steps _1pl 1pl 100
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viewmat

viewmat

X —2xy+y -02=0

X -2xy+y>+02=0

implicit_fn® implicit_calc steps _2 2 100

implicit_fnl implicit_calc steps _2 2 100
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X -2xy+y3-02=0 X -2xy+y +02=0

«) viewmat |:||E” <) viewmat
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